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FADC OUT Fitting
(w/o Cu contamination)

Summary

The Ni KP shifts are seen also in the FADC data
(the waveform was fitted by pol-4 function)
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Without CuKa contamination

e FADC pre pedestal cut <= mean+2.5%sigma
(sigma is the standard deviation of the pedestal: SDD dependence)

FADC OUT (pol4 fitted peak height)



cycle1 out sdd2 TiKb1 |

residual fit - data [ch]

20

15

10

e LR L - R R R P T —_—
. N O T I O IO T —_—

20 20.5 21 21.5 22 22,5 23 23.5 24
runpart

cycle1 out sdd2 NiKb1 |

residual fit - data [ch]

20

15

10

T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T T T T
T T T TP STITTTE —
I ‘} ...................................... —
s e I L I T e T T —
e e feveasrannannann fevennrnnnnnnnns T T AT feenennrnnnannan T —

1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1

20 20.5 21 21.5 22 225 23 23.5 24
runpart



cycle1 out sdd4 TiKb1 |

residual fit - data [ch]

20

15

10

e LR L - R R R P T —_—
. N O T I O IO T —_—

20 20.5 21 21.5 22 22,5 23 23.5 24
runpart

cycle1 out sdd4 NiKb1 |

residual fit - data [ch]

20

15

10

T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T T T T T I T T T T I T T T
S S TTTETT I {»._ .................................................... —_—
e —_—
s e I L I T e T T —
e fevernnnnnananns T Fareerararaeaai sl ra e i rararaaas e Frererereseasaediaeianas —_—

1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1

20 20.5 21 21.5 22 225 23 23.5 24
runpart



cycle1 out sdd5 TiKb1 |

20 :I T T ! T T T T ! T T T T ! T T T T ! T T T T ! T T T T ! T T T T ! T T T T ! T T T T ! T T I:
15 :_., ............... . ............... , .............. ‘}._ .............................................. } ....... _:
— 10:_ ........................ ............... ............... ................ .................................................... _:
L | N H H H -
L — : : -
8 B — e ‘l‘ .............. O ST TPTRTY R SO SR —
© — : : 3
© — : : : -
E 0~ ]
E = -
2 gt b =
2 — -
o = -
-10 R T T L L LT L e LLLEE SEECLLLEETCLLE S CLIIIEE R TT SEERLD —]
-15 :_ .............................................................................................................................................. _:
_20 :I L L i L L L L i L L L L i L L L L i L L L L i L L L L i L L L L i L L L L i L L L L i L L I:
20 20.5 21 215 22 225 23 23.5 24
runpart

cycle1 out sdd5 NiKb1 |
20 :I T T ! T T T T ! T T T T ! T T T T ! T T T T ! T T T T ! T T T T ! T T T T ! T T T T ! T T I:
15 :_ ....................................... ‘} .............. , ............... ._ .............................................. ‘l> ....... _:
— 10:_ ..................................................... .............. ‘[’ ............... ...................................................... _:
L | H H -
L — : : : -
8 P PPN - S-S ST ST —
© — : -
T - : -
= : =
S = : -
_g B e ........................................................................................ —
[ — : -
g — : -
-10 SRR LE e STLTIE R LLELIE ST PRI CEEPLIIIIERRLE ........................................................................................ —]
AB e TR o .............................................. TR RN U —
:I L L i L L L L i L L L L i L L L L i L L L L i L L L L i L L L L i L L L L i L L L L i L L I:

20 20.5 21 21.5 22 225 23 23.5 24
runpart



Without CuKa contamination

e FADC pre pedestal cut <= mean+2.5%sigma
(sigma is the standard deviation of the pedestal: SDD dependence)

TKO ADC OUT
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